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Zero-sum game

INFLATION TARGETING

O XdS2=2

o
[

AN =L X It

3
S

[e]]]
== (20/E)- Ut

2008 & 0|=

A& &

(ZE) UAY X =, =

[e]]

i, Ol= S A2

C

1249

X
[

ol

PNy
=]

182 % %Al

IS

ol
IHI

are

-
1

U

FEIZHNEO Z2 EE =2

<0

INE-{B S

[¢]
S E 20%E S 0L

(¢}

=S
[a—

LIASXI== 0l Xt 8E 29 € DI
IO A 21.9%

=

Z HAX

i
=)

P

[9)

Ol= SAI3U XI== = 108 UHHl 20% S
LIAEO0l M2 2, Al

h=1

AT

H

{CF.

AN

[e] Xe]
s

g ZelX

24 2000

nJ

Z|
Ol XN==0] 2A SMEUH EA

gt UCEH.

—

[—

S&P500 Xl=== HUS = JH20l 60% 01401 20%

il

ol

=
10

U

uy
g

]

w0
K
KF

<

all

==
1o

=201 0

SclJl M

2K E

210

(o))

|
n

Ju

) 2019

(x 0l 282 UHEe2 20152

g
o3
$

ol
o8

=352 BOJ

B (20IHBH0/ZLEA) - 2019
0

MYOICH 2L

=]
=

Ul
el
Eil
o)
JI0

Ol = Dt

N I3AAHN S2E THek IR0

ulJ

U
S
RO
Ki

.

o)

—_

ol
ol
wl
K0

o3
3
oll
w0

Ll

5

010l 222l GDP #2220

—

[—

BOJ

w0
0l
00
Kio

o
Kk

fulJ

~

o]

I
H

0

o3
~
o

H

OICt. BOJ &

OIC}h.

iy
J

o3
B
o)
ol
H

i

= A
g

i

2018 & = BOJ It R

=t

2%

=]
et

—
—

| 2F 0 CH BOJ

)

-

)

0l
0

.

o)
2l

ey

ol

ol
Ul
60

0l

A1 JUCH XH

SO HEME0A HNE 21

o0

ol

ur

=
R0
ol
o

0.1%92!

Hut

F

o

o3
I
3
ol
<H
~

e}

iof

12 2B JIHA Hel 2l ==

X

GES
J0IC &

&0l

==
o

i
ol
i
ol
X
oL

ol

A
22 L=, =U

==
=2

i

-
[w]

o)
<l0
20
e}
[
]
1]
ol

S

“%% THOMSON REUTERS



S&P500 X|=== 9 & 20 & Atel X 10ED
17.5%0t, Gt X=== 10 2 3 & At} 2 I SIH0IA
16.3%Jt ot=fet &HEHC.

LIASEXI 42l 522 0|26 FAANG 4l S A%
S HTHE FASHAN ENNES0 SS S21D YUs
S BreE H0ICt

The bear approaches

The Nasdaq is in a bear market. Other major U.S. stock indexes not far behind

Percent” ——S&P 500 —— Nasdaq
5
S&P 500: Sep 20
Nasdaq: Aug 29 l Dow: Oct 3
|

P

Dow Jones Industrial Average

Bear market confirmation

\em

* Movement from all-time closing high
Aug 2018 Sep 2018 Oct 2018 Nov 2018 Dec 2018

Source: Thomson Reuters Datastream/ Stephen Culp 12/21/2018
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Zero-sum game

INFLATION TARGETING CENTRAL BANK BALANCE SHEETS
Rebased CPI % of GDP

25 120

UK
2% target
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Euro zone

Japan

2010 2012 2014 2016 2018 2008 2010 2012 2014 2016 2018
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The bear approaches

The Nasdaq is in a bear market. Other major U.S. stock indexes not far behind

Percent” ——S&P 500 ——Nasdag  —— Dow Jones Industrial Average
5
S&P 500: Sep 20
Nasdag: Aug 29 ‘ Dow: Oct 3
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Bear market confirmation
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* Movement from all-time closing high
Aug 2018 Sep 2018 Oct 2018 Nov 2018 Dec 2018

Source: Thomson Reuters Datastream/ Stephen Culp 12/21/2018
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Dollar index - weekly change

CFTC specs - net dollar position

-12 -
THOMSON REUTERS




Fed decision

U.S. 2s/10s/yield curve

15:44 1044 ‘a4 07:44.
20 December 2018

07:44 1344
19 December 2018

11144 15144 19344 23!44 07'44 11144 15144 19'44
14 December 2018 16 Dec18 | 17 December 2018

-13-

% THOMSON REUTERS




